nsweed

Z U Cross out the answers to the questions in the grid below. ; crease 200 by 12% NPJ
_ _ _ LW2u, 8\ Decrease 4500 by 41%
C m —\n The factorsof 16 = 112 4 & \ L@ 120 \\ _ Y )ASY

a.
b. The factorsof 7 — h ¥ | Increase 900 U< 33% nq3
. c. The first 3 multiples of 8 4%/ 16| 2¢ :
ist all of the integers that satisfy ¥ . The first 4 multiples of 9 + % 13,23, _ ames invests at a
List all of the integers tha fy the d. The first 4 multiples of 9 +% 18,23,3¢ | 36 |6 \Q\ James i £500
inequolities: e. The HCFof I8 and 24— 6 | rate of 10% compound
2ca< 734,56 ‘ f. ThelCMof 6 and 10 = 30 60 |2 4 \@A . interest per year.
2 b <22-3-2,-001 You should have. 3 of S JNL il How much does James have
- . - ou ; ve 3 numbers left. | ey
m-m.&u.mn% M%N& “y=d,~2,=1,0 Find the HCF of them. £0, 100,120 \S\ i00 \8« after 2 years: 2608
1617\ \Q, 20,222 GF = __NOU | . — el
PR NAVEEAYAR ] IwAFLS Iv N —— lﬁrm\ <D—=w o* D na—a
Complete the table of equivolent fractions, decimals and | | Write the following as products of prime factors: depreciates by 20% each
percentoges. Write fractions in their simplest form. _m g e Nmu P a..u <ﬂn=.. um_w was _",veoq..rﬂm.mmooo
- = 2 when it was bought 2 years
Fraction Decimal | Percentoge &o, enwxwﬂ @B @H M %m && anwxm ago. %Nb
1 01 i 10% @ _ m@ : m@ @E much is it now? \
H,Q ! T, WFEAIITIID WA ) O WOIVEUIUTD
mw.m 001 _ = [ Colculate: n Calcu'ate: 1. Divide 150 in the ratio 7:8. #+¥=(5 3x0=-%0 30:9C
T ] . ale2 =2 2 3x2=8:1 ISO+1§ =10 0 =30 |
|80 = 10 ) 307 5 2 T 776 42 T | |2 Divide72inthe ratio 21 24123 [ o. 2%
F . pisd - 2=2 2,510 ¢ g
w%u = = 0 35 35% u.@,.ﬂ@ =93 w.,m,.xmw.\duﬂw 221+3z24 L
, 31 _ . c 5.3 =21 c I3 2 3. Divide 143 in the ratio 4:6:3. (4648 = 3 ...T:.maw‘wu
160 | . 12 L "1 2% 42+13=0 i
190 o3 | 3l ¥ ol VPP ~
2z _ 1L . e dotoai gl | 4 5Xg /"Write 125000 in standard form 1-25x10°__\
\_\m& = <0 O NN _ 6 12 9 13 w3 . e . -4
(SR 068 | 287 e—-22u.2|l, m.ﬁmquwm nm@ Write 000025 in standard form 2-5x (0
00 =z ! P ma+ 3 0,031 |, 2 Sele 3 Calculate (4x10%) x (5x10%) 2 y 10"
imw\% O -3l . ‘ A m,,_‘ wsw Nm m. ’ 1577 30 % writing your answer in standard moEB.w
45, — 4 -0, ; 1 . b -
-2 | gy? N &332 5 s |8 5*E-|%| | Caculate (8x10*) + (4x10%) 7 x10
8 K 1 7 4.3. 7.3 % writing your answer in standard form
9 _3€ y _ hoet=24B 8| p o Z-F 12 g8y .
35 7100 Q 36 Mml\ l_ 10 8 10 0 % 15 11 60 o / A




Number Exam Questions

A gym has 275 members.
¥ (00-40-28 = 32
40% are bronze members.
28% are silver members.
The rest are gold members.

Kamil looks at two cars.

The normal price of Car A is £1550
The normal price of Car B is £1950

The cars are part of this offer.

107.= 2F+S 307 = WNrm., @ Cars up to £1800 @ Cars over £1800
Work out the ::Bc,mﬂ of gold members. 207 = 55 WN,.\ _ %N. stS- S Sale price Sale price
..... Need 32(.d) 23S |4z 23S

Here are two offers for batteries.

20% off the normal price

Wom the normal price

(3 Special Offer
When the sale price is over £1250
OFFER A OFFER B Get an exira 5% off the sale price
Packof4  ((4x 107 ¢O) Packof5  ($x87140) .
£2.52 £2.75 7 After all reductions, which car is cheaper, Car A or Car B?
1 off Pay for 3 packs get 1 free ,/ You must show your working.
3 / CAR A (AR B
Zak wants to buy Y0 batteries. ﬁ?@ ? 6 P acts 9\7&%.&, ,/ @ ZQ.M”O .‘M.MMWO £ é.whmoo @ Zg}Q_MMMwm \._w % NE%Q
[07= (
Which is the cheaper offer? .NT@ : 20 = £3€0 mﬁm ww 3) 450 _ Emmm
You must show your working. EY 440 ,..I\...Glm
—_—_— mu\.d\\!.llltm.\\.\\..
oo otz @ <7 %l \ake ST 54,
6x22= 22 10% = |l 38,1 [07.= 130 2,
e s7-31  IKKS simes 1%
S Emmr 3 2 .@HM.E.%O..H.»W..&...WO 71365 “A238
| |

AR B (S chodpar




}P?\,m\.\u

Standard _uo_,3 and Reverse %

= (36 Zonvxmw 6 x10%)

{a) Write o@%w in standard form,

hum Answer ... ...W NW X _O .......................................
3 1
= sN.n_mx ao VXB
x=36x108 \Gh ) 246 x .O: (b) Write 9.416 x 10° as an ordinary number.
¥y= TEHXA0F U B LT B e e ———— e oo —a e m e et et e e ee e oo e e e e ennaenan
16O
Work out the value of R. Answer ........ n‘r. ................ AIU“.. ..................................... "
Give your answer in standard form to an appropriate degree of mnncqm&\ (c) Divide 7200 million by 300
~ Nﬁm x ..O; ..... — \ M.NW ................................ Give your answer in standard form.
2.5 x 10% 3 200000009
.................................................................................................. Y _§N§§o
. ole oV TRAS o 3)72000000 ...
>3m.-<..«m". ............. H.....l}.....f..........‘.. .:...t..:..................:....................»......,.....I..!...{.ﬁ“-r. ...........................................
) o Answer ..... NomTX,_O ................................................
In a sale. a TV is reduced in price by 20%. )

The sale price is £280.
After the sale, the price goes back to the original price.
Matt has £340 to spend.

Can he afford the TV when it goes back to its original %nmw

0%5-00
8 )2%b- 00




Ansinens

Make x the subject of the formulae:

a +2 \Q\N

. y=x

b y=3x = K\w
R -

E

 y=2x =

e y=3 kl.\f\\\v wu...

£ y=9x+17 v r= «\..__\

& ¥y=2x+32 —p % uhhhw

>_ m m U W. m Simplify by expanding the brackets: Represent the _zeﬂu@_ﬁﬂmm on the number
I w?&S#NH.T.w r>=3 el _Orl, A L] by
Factorise the expressions 2 ola - 5)— ®9| ' “ . = w g u >
3. 9h+4) > Qh+36
1. 2x+6 = X\fw y 3“'\'..
2 »wwnw-wmiw 8. 203+ 7o Ge +14 rS2 e toap il
3. 7p ~28 - «rﬁﬁlw 3. cﬁmk#wwl& h.r,mﬁ.TNuT s ‘. 3 ;o4 s . y & 8
4, 8a+2 _ Nmfu..‘_v 6. 11{h+4)) 3CC+ U\ ® 5
7. 4d(d+5)— 4d°+20 PP R SEREREEREER SRS 4
Use FOIL 10 simplify the expressions: | & 7g(2g + 8) |4 .Tmm,,w 54324 8 1 23 48
9. 3Mp +8)+4p >"pr 24
% Qizai.wax +_ox+Nmr 10. wc +5) & .5 2) m:sv__?
2 clw%.t_.. wvml . _—
Nn x% 2¢ 2td '« 3d* x 8d°
Sol The tion | Solve th | = £¢ m:#m%knﬁ
,. LR - 't ..)_.4 C
olve The equation | O¢live The equations mrm.r w# N 2 A-.A.Nﬁo 6i3
_ 4j xnwu m 6k xX7k* _ E\N
3a+2 =17 a5 5a+7 =19 - 3a x=h§ J ekt
Abh = 5 = 35 m.ﬂ 8b+5=20+129Y UH
" a.\\% . - 3 Solve the following Simultaneous equations: /
2¢4+8=20¢=6 +3c=17+ ¢ (=
11d --uhl.‘wQs 6d — 12 = 2d + 20 “WvNX+w,\nHw VA“N\.,uﬂUW
6e+15=87¢=12 | 4¢ —18=¢ +5e=! 4x+4y=20 =
:.: m. 4l 7f -15=4f -8
IS -7 2)3x+2y=23 x=3,Y=7
u,l m‘\ ﬁu gk, 5x-y=8 ————

Find the nth term of each sequence:
a 4,8,12,16,20 — &N

b. 4,7,10,13,16 = 3N+

¢ 6,13,20,27,34 +Fn "

d. 3,14,25,36,47 — 11n-8
e. 9.17,25,3341 —» 3 + |

f. 6,11,16,21,26 —% Sn+ |

g. 8,6,4,2,0 — -2n+ 10




Algebra exam questions o o u » oz

(a) Solve 6y =54 mn_‘mv
S 3

{b) Solve Hr+15=9 -

© @

(¢} Solve w+2=2w+7
N 20+2=% (-1
..................... Nan )
(@) Solve m =6 ﬁ X mv

Answerx =

Here is a linear sequence.

=

i

Work out the nth term of the mmn_cmsnmw

& x o o5

{a) Simplify

a2 Y+3

(b) Simplify a’ IS

(c) Simplify (F 100

Answer Q., ...........

A, B. C and D represent different numbers.
The total for each row is shown.

x+3 t\%‘*ﬂ “_Ww.‘ mlﬁ¥
GLX= 3Gy

Total Work out the value of x.
ba=24CA a [a [aa] = NOXAX438483 =01 Xz.3l
a=6 A6l a6l g | 8| 2 AH
Z wﬁwwowm 26| 8BS | 85 ¢ | 2 (b) Factorise fully ~ 4r-20 ————
p=S [ 465 & o] u i i (625
Work out the values of A, B, C and D. &t €= Nﬁ N \ﬁv Answer ...
P.\um»vﬂ‘m.x =0 ¢=10

.................................. Qun.r..||_,

q
- 21+d=12¢
d=7

I‘ﬁ



Ans

e ————

(a) Expand and simplify Awﬁwmwud

Solid algebra exam questions = e

Solve the simultaneous equations 2
@ Aseqsencesits &_J3 2 2 O S x4 l9x 410
Circle the expression for Em.“.mm term. 5x + 61 =30 inko eg” © — =
Na.lw.,.n‘_@nN. m\NQ“‘N .........................................................................................

8-3n 81+ 5 e 51 +8 - =6 (-3
Do not use trial and improvement. .wu N V Answer

You must show your working.

(b) Theterm-to-termrule for a different sequenceis - ...w R.\+mUHW ..........................
; . F4x -6y =24
Multiply the previous term by 2 then subtract & | -z A

............... 9y =27

r =3, MT\“n-N

The second term in this sequence is 2v + 7

The sum of the first three terms is 57 e Circle the equation with roots 4 and -8
Work out the vaiue of x. — m \.J.
4x(x -8)=0 (x-4)x+8)=0
XA 6 (a) Expand and simplify  (2v + A\xw -3) =8

............................................................................................. ~— 3

(D2t T 2x2-6XEX =
(D) =525 +4=S = A+ d DE-S% 23

ANSWET oo ._m . @ +— | @ + @ \\.u|.m.|¥ R

| “ u
- I\Ilv N .# ac O_.mmm .w,m... y - | Xl_r& n\l NX\TJ- +. DIX\TQ (m'
@[\.. ~ xw_ \&B X+ T (b) Fact 32+ 2y - 24 \H_E MX+NNUMM N\.wﬁv

r ey — %
..\vm\\u.h..m..ﬁ_HHbul@A!N f % / 24=3S Q‘Mv

Ix+H2L

x2-32=0 {(x+4)x-8)=0




ApSinmenrs

N i

Handling Data

I choose counters from a bag
containing 2 red, 2 blue, 2 green. and
2 yellow counters.

Complete the table to find the

Number of Siblings ,.Wqﬁﬂmﬂoﬂ Sibxjvey, relative frequencies.
0 15 o |
1 7 l..% N Number | 100 | 200 | 300 | 400 | 500
_ - of trials
| 2 L8 16 Number |14 |34 |81 |92 |120
'3 4 |_ 2 - of reds
_ : . Reletive [t 13k 130 1 q2 [0
4 - .4__~ - |3 frequescy | 100 Nﬂo 200 0 | Tao
_ ° 11 _- 2 Calculate the theoretical probability
2% 85 w of picking a red counter.,
| From the frequency diagram calculate the: 120" _ 24 __ (12 “E
_ 4g oo ~ 100 " s0 " 28
a. Mean=p —=— -
<2 ) 5 \V \V \V
b. Mediagn —%
. Mode —7) . O R
d. Range —L-0 = & You have 4 cards. Write down the numbers that could be
on the cards so that:

1. A fair coin i flipped 600 times.

How many times would you expect

togetatail? 5 J}600= 300
_—

2. Adice isrolled 120 times. How
many times would you expect to

They have a mode of 7 and a range of 5.
They have a mean of 8 and a range of 10.

a. They havearangeof 8 |, 2,3,
b. They have a medianof 6. 1,66, T

N_T.\fu__P

@#v\ ! 6

geta3? ) -
z 6r 0 =20
3. The probability of picking a biue
counter from o bag is w How many

blue counter if you picked 150
counters, putting them back each

ime? _L ¢ -
time v 6} 1S0= go

A fair dice is rolled twice. Find the
probability of: TR

P e —

a. Rollinga5and thena 66”2~ 3¢
times would you expect to pick o b

. Rolling an even number and therra 4.
Rolling an odd number and then a

prime number. | 4

1 6 L1 45 & ¥ 4 @
200 1000 (90 1660 1200 1000 k8D 680 D00 400

The table shows some information
ebout the age and price of some

motorbikes.
Drow a scatter diagram for the
information.
A
o] L,
15001 ¥y
& X x
..m 1000 -+ X -
500 4
Xy
0:
0 2 4 6 8 10
Age (years)

Maths test resall

Maths test results and percentage stiendance

Prrcentage attendance

Draw the line of best fit on the
scatter graph.
Use your line to predict:
The percentage attendance of a
student who scored 80. 837,

The score of someone with 60% *|°

attendance. 507

Complete the pie chart for students’
favourite colour.

Colour | Freq

Red

&reen

Yellow

Other

The pie chart shows information
about the favourite milkshake flavour
of some students.
15 students like strawberry the best.
a. How many students like chocolate
the best?
b. How many students like banana
the best?
Favourite mitkshake Bavour

7

T I
% ¥

o4t
7L 74

Jor_
277




fnsiens

_|_ m 3 Q _ 3 m D m .ﬁ m m X m 3 DC m m.ﬁ m o 3 m (a) The arrow on this spinner is equally likely to _mwn_|ow/ each section.

Boxes A, B, C and D contain balls with numbers on them. ‘ \\/ // 1 \\ //

Box A Box B Box C Box D W.) - \_\ y / 4 / \ 2 ,_/
( . [ = @ rw AV
| \ 477\ /
| ® 4 /

@ @ @ @ @ @ // \ / \
6 NolNoI \/
_ - _ The arrow is spun 72 times.
A ball is picked at random from each box. PDX/ How many times do you expect the arrow to land on 4?
. . . . | —_

(a) Which box gives the greatest chance of picking a 37 f ................ e le N. ..... = M. t- ...............................................
You must show your working. _ @w ,W o\w\ ATISWET oo
e IR s SORK el I.....[ -

N = |\O |-M. - o __gmv The table shows the percentages of drinks soid on Monday m \ IIJJ.r///f
(b)  Which two box mw give the mEWM chance of picking a 1? Drink Percentage Sold / ///
wofr 9_% Cola 30% \\ | \
......................................................................................... \
..... Wﬂ ) 1%- .W\t .Ih_.‘.l I_.mBozmam 20% _,x_ @?ﬂ ./_
...... m:..le\».n-. . eansascsasamnernsy evasassinatissmenbiry|rocanatascsanansmnvsatonsinnan — Oﬂm:mm 85\0 \ p ____
BOX ........... > ...................... and Box ....... .W ......... Draw & pie chart for the data. . __ O\P& /\_
Jo¢ 6y 360 = 108 y
[»] \ /
207 & 360= 12 \ Jorwsms
® \\\
507 o 360 = 190 N\ o
/l.l.l!\\\\
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Solid Handling Data Exam Questions

Here is a Veenn diagram.
It shows information about the number of students who have a laptop or a TV,

tdhr=S0

Set L represents students with a laptop.
Set T represents students with a TV,

& )
L~ H < .\ : T
6 1\
| 23 | __
|
\ J/ ../. ) V4 y S
B 7 - ~ AO

There are 50 students altogether.

A student is chosen at random.
(@) Work cut the probability that the student has a taptop. N.&

Answer dm.*NWN\NﬁVMWM ........................

(b) Work out the probability that the student has a laptop and a TV,
Answer ... \N\Mo ......................................................
(cy Complete the sentence to make it true.

...... has.a TN

The probability that the student ‘D AAA

A bag contains counters that are red, blue, green or yellow.

red blue green yellow

3x

A counter is chosen at random. rWX +X - rm.T 2X= Q_ _

The probability it is red is 9 mvr\m =4l Q,.mu

100
(00-9-91
Work out the probability it is green.

LN Z XS
%u ..... 6-5= 11 "

Number of counters 9 x-5 2x

6r=96 (&) T
X=16 Nl

Complete the tree diagram for the dice landing on 4

e

............ First spin Second spin
{
6.
1 4 <
3 ~ P
P S~
~ - T nota
.
~
f \
\M/,,// \m -4
T \
m // not4 —
m =
S
e = not4

(b)




Angirens

Shape ano

Space

Calculate the volume of the prisms.
All lengths are in centimetres.

P O L o e ey

Sha Formul A Peri _
= __ W T L
W] Sl e et meoen(o

A= = e 1 , ==
1 T <o | k62U i L gr=72 (%)
r——— il
3em \w K ex ©7" 2 The perimeter of the rectangle -
) w mm$Nm “&NO.M? omb\\.wllwﬁv is 82¢cm. HH. @
.}“an.w _b.h N.TN ._uv R e | a. Write an equation for the e
2 + 5+ .W a.¢ pecimeter of the rectangle. \ —
mei h=lxid | = 10em = l4emm 123 s\w. o e tonce i the. ]
Sem & byl s= %\1\.\%\ length of each side.
Find the length of the hypotenuse of the
> = bvx 4 = W..r.W.T triangles I
- Ww. b ] P N 11cm
A = mQSN = )0¢ 51
= ™ 3% Bem 9cm vl
— (80 -S1-40 :,_Mlvu ll21+81=202
D‘\ Uf_) T“fm @.u m+\ﬁ - wﬂ_o 4cm
) 1| +3+3 Calculate the surface area of the prisms.
=3/ | _ All lengths are in centimetres.

em - NWWS . 6x3 (2)

P=3(ato)h P=1+3+ f13* _

“2
-y | A .,ML_\wsz & /e
et - e —— h
A=3x it = &
- lhomt L0x2+30x2160%.2 (82T +F 2524 Zn2
= 280¢m = .N,mNOs?N




AN nrens

Reflection and Rotation

Y
=== i Reflect the shape A
5 7 A [ g in the ::m.u\ =1. Triangle T is
4| L— Label the image B. drawn on the
-3} m_.._a.
2 .
% _ _ Draw the image
Nvinl of T after a
6-5-4-3-2-10 1 23 45 6" rotation of 90°
e U Y , anticlockwise
e about O.
;104,\«1:,1..1&4
—4
-5
-6
¥4
yA _ In the diagram, the : .
44 triangle D is the 4 U.mmﬂu.__ua fully the
mil_ image of triangle C | , ”_zm mdﬂ .
after a reflection in _ pansSrormarion
2- _ a mirror line |, which takes shape
1 ) | . A onto shape B.
D | C (i) Draw the mirror _ .
— ol T 1 —> line on the %10 ; 3 N&\w%ﬁ
-5-4-3 4941 ﬂ 2. 3\4 57 diagram using a C Y T i .
dashed line. 1 0
2 L2 (¥0 Ogowg
34 (i) Write down the — 3 VI Q
144 equation of the -4 Q\. v mb,\_..
| mirror line. 3 %ig

=|
—

e

(0,0




frowers

Translation and Enlargement

— Translate shape
_ Enlarge PQRS by

b —— Dby vector (3). scale factor 3.
b _ Label the new
i , shape E. - .
8 i W & 7 How many times
g | —— i bigger is the
6 _ . _m. area of the
5f ! L enlarged shape
4 | » than the area of
NEEE L a ! PQRS?
i | 6x =54
, _

| uf T .
T 25 4567 800N E ST B sj.m Q\?&phm ’ :m\\

q bwso DO
L\‘l
T | Inthe diagram, Enlarge shape R by
shape A has been scale factor of 3,
translated to shape centre of

B.

Describe the
transformation
that takes shape A
to shape B.

X

enlargement (4,1).




Shape and Space Exam Questions

. Work out the area of this pentagon.
Two 10 em by 6 cm rectangles are cut in half as shown.

Not drawn accurately

Not drawn accurately
£ 12em
1O

—W0em—sp &P TH

m/n_u\B .......... 10 cm| @

2 _
The four pieces are joined together, without overlap. as shown. (@) Which angles are vertically opposite?
Circle your answer
5 10 Not drawn accurately
¢y & y 9 aandc bandc band d candd
¢ oS, ﬁw
(1)
s s R,
*— ﬁ {b) Which angles are alternate?
3 H < Circle your answer
e
; 1@ Ny aand b aandc¢ bandd candd
Work out the perimeter of the shaded rectangle.

.................................................................................................... )

(c) Which angles are carresponding?
Circle your answer

aand b @ bandc band d candd




Solid Shape and Space Exam Questions

The exterior angle of a regular polygon is 45°

360+ 4S§°

Circle the name of the regular polygon.

pentagen hexagon

(a) Three electric cars are tested by driving them around a track until the battery runs out.

The table shows some information about their performance.

=g ™

decagon

Total time Total distance
Car travelled ><mmﬂw._m\w% eed travelled

{hours) (km)

A 4 35 #x3$ = 1Ok
|80-¢0 =
B Nr.mw 40 180
=2
c 3 _Qfmtmg 150
Complete the table.

(b) Two cars are driven around a 10 kilometre track.
Both cars leave from the start line at the same time.

Car X travels at exactly 40 km/h —P Falkes !
Car Y travels at exactly 30 km/h N _ Y

20 s fo do

How many minutes will it be before they pass the start line together again?

1S _m\,wO\ 45, Co m;,Q
2: 20, 40, 6O —

awteS

Show that ABC is an equilateral triangle.

( 2xbenoy

(s
i ‘o w%ov

9\7@53 Not drawn accurately
shapes add vp s
605
P ,,,..// m, _
¢
2.54+10=60
< 6x1 2.5-1§ mei._,, P
.\\ // HumOo / //
S ex—150 | =" [ ax+ ._Oo///
c

.......... O+6X— 1S+ X0 =180
..................... VOX+SS =180 (=S5 oo
10X =25

L= 125

d

ALY IS paranet 1o 5.
AE=DE

Not drawn accurately

o hodo b (g0ARES L e
track o L)

N .
Work out the size of angle m\.:mu ) R WO N AOQ \L..W.O o
 Thange DRE (5_isoseeleo 80+ 2Z = HO




